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griddle Bigfoot 2009

For each puzzle, locate each Bigfoot (8 per puzzle) using the clues given. The numbers tell how many of
the neighboring cells (orthogonal and diagonal) contain a Bigfoot. No two Bigfoot may be adjacent
orthogonally, and the number in a Bigfoot cell shows the wrong amount. The first puzzle has one bigfoot
shown as an example.

Created by David Millar. Feel free to share this puzzle with friends and send them over to The Griddle
(www.thegriddle.net) for this puzzle and more. Leave feedback or get updates - follow @thegriddle on
Twitter or subscribe to our RSS feed or e-mail updates.
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